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The figures in the margin indicate
Jull marks Jor the questions.

Answer either in English or in Assamese.
1. Answer the following questions : (any séven)
; 1x7=7
O AR TR T 2 (R sweny)

(i)  Write an example of a solution of liquid
. in gas.

“ (TR WS e TR 79 ot Bl ey

(ii)  What is reduced phase rule ? |

'Cohtd.



o)

(iv) 1

What is equ1valent conduct1v1ty ?

mﬂﬁaﬁ‘fﬁs?‘

-

(viii) Which of the following proteins

transports oxygen in our body ?

Wmﬂmﬁﬁaﬁ%wﬁnﬂwﬂ% ?

Express a Danlell cell. @ K
a eratin
BRI < @rmﬁ AT 3 | - ' ,
: : 7 - (b) Nucleoprotein
(v) . Arrange the followmg in order of L .
increasing acidity : (c) Haemoglobin -
W aﬁq m—- W.o (d) InSL’llin
CICH,COOH, CL,CHCOOH, Cl,CCOOH (ix) Glycine when heated alone gives
(vi) Aniline reacts with bromine water to give Mo Yoy IRE W
- ahe "ﬂfﬁ? aore aiRfens Rt =R = (@) methylamine
(a) - o-nitroaniline (b) 2-amino ethanol
() m-nitroaniline (c) diketopiperazine
(c)  p-nitroaniline (d) zwetterion
"(d) 2, 4-dinitroaniline '
x) Carbohydrates are ch t d by th
(vii) -Which of the following dlazomum salts * y re characterise y ©

is most stable ?

| '—ammwﬁwﬁw

~ (a) Benzene dlazomum fluoroborate

_(b). Benzene dlazomum chloride

| (c) ~Ahphat:lc diazonium salt

(d) None of the above

presence of

were [l m%ﬂﬁﬁ AR ?ﬂm
ey RS ie 2

(a) . OH group

(b)) >C=0 group

(c) Asymmetric carbon

(d) All of the above

3 (Sem-4/CBCS) CHE HG/RC/G 2 3 {Sem-4/CBCS) CHE HG/RC/G 3 Contd.




2. ; AnsWei' the followir\lg.questioﬁs : (any four)
_ - 2x4=8

S T B ot 3 (R )

(i) D1st1ng1nsh between 1dea1 solution and
~ non-ideal solutlon

| e T s S i Al v |
(i) State and explain phase rule.

AR ool FR e

(i) The conductivity of 0.2 solution of KCI

at 298K’is 0.0248 S em-1. Calculate 1ts
molar conductivity.

298K TS KCl, 0.2 wa B RS

1 0.0248 Sm‘ITWWWﬁQ‘E
=11

(iv) Distinguish between reversible cell and

irreversible cell.

ATTRS! (I ST LGRS} TR #N12s v |

(v)‘ Explain, why carboxylic acids have -

higher boiling point than corresponding
alcohols.

R B o o s 70
T SRR | v 2 | e
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(bi) Explain, aniline. is a Weaker base than
ethyl amine.

aﬁ[“—»: Wm%‘h—qwﬁﬂ |G |
(vii) How are ammo ‘acids related to protem ?
afiw @ f67 & g 2iftag s1srs e

(viii) Justify the formation of osazone from
glucose and fructose. - ‘

G % TG TR 1] SR ng%smﬁ
[

Answer the followmg questlons (any three)

5x3=15
R @g‘@ﬁ%’?ﬁ 1%‘21148 (i fefaoT)
() (@) Whatis CST?
CST = &2

(b) State and explain Raoult’s law.
3(T=5= 0o Bl S v < |

(c) Definc with example about
azeotropic mixture.

ey o s v vl |
1+2+2=5
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w)

%‘jn?"%?ﬂwmmwmﬁs{@ﬁ

Find the number of components .

and number of phases in the
following equilibria and evaluate

- .the degre_e of freedom :

(i) (o)

- distance betwees,

. conductivity 0

O RENGR ot eiergy sigay, T

RN O Fog Wt fiefz <541 3
N2(9)+0,(g) = 2m0(g)
| ’ 3+2=5

T?e resistance of a 0.1M solution
olan electrolyte is 600 at 300K, The

dlmenSiQ.nS of each electrode in the

cell are 0.850‘m‘x'1r.4cm and the

them is 1em.
Calculate the following — cell

constant, COHdUCtivity and molar
f the solution.

300K 0.1 Reyefrrs e o A

- 60Q. (F1g e wig qeiEg A1dl

- 0.85¢m
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" 14%%%@% lcm.

W%ﬁ@wi o

Define phase, ‘components ahd_
_ degree of freedom. -

®

- (iv) (@)

(b}

(v) (a)

(b)

L 4
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Conductivity decreases but molar

conductivity of strong.electrolytes

increases on dilution. Explain.

. Figere, O Ry<Rosy «or ARSI w0

R GeTR “iRRIfRS! AT | G A1

| - 3+2=5
How can you determine pH using
hydrogen electrode ?
WS BEE W WYL FW pH o7
@ IRAL o

What types of information may get
by electrochemical series ?

Regpe IR (AT IR 71 (P R

©U AR AR
‘ 3+2=5

Write Perkin’s reaction with
example.. :

TRICIR s “ARfawm Rfdmes: for

Write the products of the following
reaction : : :

Contd.

.

RERIICRCIAES RN
OH | o ~
€ ~CH,c00Cc0CH, —H2%%
NO, ~
3+2=5



)@

A?range the following in decreasing
order of basicity :

IR 49 ZPI T e 2

N;N-dimethyl aniline, aniline,

- ammonia, ethylamine, p-nitroaniline

0

.Wr.ite Wwith an example of
| Sandmeyer reaction.

- RN W15 e R el

i (vu) | ‘(-a)‘

®)

- Of proteinsg.

'aﬁwq“ﬁﬁqtﬂﬁﬁﬁmﬁﬁﬁml

| m““mwmw el
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L 4 2+3=5
What kind of bonding is responsible '

for tertiary ’Structure of protein ?

[egie

Write briefly on general properti€s

2+3=5

Wri
rite the majn classes of
carbohydrateg with éxample-

e —————

DI v s R s 70 T€

(b)

Classify the following into reducing
and non-reducing sugars :

oot () Rorem w4k 3

Fructose, maltose, lactose, sucrose,

starch, glucose, cellulose. A
- 3+2=5

4. Ansv;rer the following questioﬁs : (any three)

10x3=30

wor SR e el 2 (e fefaY)

()
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(a)

(o)

Explain liquid composition curve
and vapour composition curve from

lever rule. ,
GTOR TS SR o9 @ @12 W9 (R
& (F1L AR JIY T |
State and explain Nernst

distribution law. Write the
conditions for applicability of the .
law. 4 .

e o Rfd B o et =411 @3
- e e 5oz e
' 5+5=10
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(i) (a)

. Clausius-

Write short n"ofebn .
Clapeyron equation
Or |

Phase diagram of

ne c . ent
system B ] ompon

| TR R e

()

- (i) ()

N
5 %""‘*"‘l@ W gy
.D,eSCﬁbe
"Systen;_

e —

5+5=10
D.erive the

dilutj R _
law, on by applying Kohlrausch

| IRy

. :\'> ﬁc&?mﬂ 0 Wﬁw Eﬁl@ﬁ

- Write shory note o - |

SR iy 5

- Transpopt Number ang

conduyct '
ductometric titration
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_Phase diagram of water

conductivity at infinite

i) (@)

(c)

Write' shortly :
s s

Sfandail’d- hydrogen electrode and

redox titration.

Derive Nernst equation for

measuring EMF of the cell.

451 Rige. (IR EMF R a1 wes

TR Sferedt |

Write the half cell reactions for

electrochemical cell involving the

. following cell reaction :

(@)
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s ol RIS sieafbe Rge arafie
@R SN [t Fl e

H,(g)~Cu® = Cu(s)+2H"

Write the applica_tions of electrolysis

‘in industrial purpose.

¢

v foraif |

Tomel e Ryye Resges acaiee Trizae-

. 4+42+42+2=10
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(v) (a)

1}

9
CH; -C-OH

o)

(c)

Ca(OH)z Heat . '
“&) X
A—Heat ' p  NHy-NH,

Identify A, Band Cin the following
reaction :
g&; RRFIGR 1 4, B = C B

C

Prepare the following :

TS IR el g g

Acetor o for
Acetophenone from acetic acid and

ethyl acetate from ethyl alcohol

Explain, w} ' .
ain, why acety] chloride gives

. nucleophil;
. philic Substitution reactions

(v) (a)

NaOH ?

m :
ore .ea31'1y than ethyl chloride.

3+4+3=10"

What :
treatedhxiipens‘When aniline is
¢ h bénzoyl chloride and

AR e @?’Ef"ﬁ[gs

(b)

()

(d)

- R frmiRfR o

(vii) (@)

(b)
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Complete the reaction :
e R i 3 ¢

? »CeHsOH

Write the Hinsberg test for
distinguish 1° amine, 2° amine and
3° amine. e

1° GNiE, 2° G S 3° GETR AL
e gl A

Give the mechanism of coupling of )
diazonium salt with phenol.

rCre R TR W (F TR
2+2+4+2=10

‘Synthesize the following
woTo TGN FRCT 341 8

Ethyl chloride to aniline and acetic
acid to glycine

What do you mean by zwitterionic
property of an amino acid ?

afi @b JRreER (< 3 :
e o
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| (viii) (a) ‘Convert the follow;
ing

@ Justi '
E ustify the structural relationship

of ami :
amino acids, peptides and -

proteins.

AR o, Cotolbiar o o

(@ Write the principle ¢
- Write the Principle that can be

~ applied for of a
_ the se ion
mixture of amino acid l |

AR 5w fieg R RN .
'mﬂmﬁﬁmﬁnif e
' 44242+2=10

Wmai"ﬂ@ﬁs?mg

Fru i
! Ctose intg glucose and
8lucose intq fructose

.(b. .
) Explgun the following :

I NaHso '
U, I 51w Riery TR
3 (Sem-4/CBCS| CHE Ho/Reyg | |
4

‘same
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D—gluéose" and L-glucose give the
dicarboxylic acid on-

oxidation. : ' ’

SR g D-glucose W% L-glucose G .
G 4 PR e oS R

Sucrose does not show

mutarotation.

wa'ra FIORTos (1 CRar |
| - 4+6=10

3500




